KORRGKTURVORIABE 72 M. 5
~ . T
10.06 Q) 5+8¢ ) 10 +3¢ Q) 3+3(
10.09 g ‘3 + ZZ,“C _ 3;3?. B L kel 1'1121&.

10 10 Q) @+;) - 1420+ = R
b) @-<)%= 12041 = ~2L
<
d) @-6.°= 8% z2-8.6¢ +(Gv)

= 64 _ 96( ~26
= 2&- 96(
. . ~2
. ’ -2 t2-
1042 o) 4#C L are R3¢ . EoROETH
= 43¢ R4 27 2"+ 5
14 ~ 10¢C - 11 _ 19.;
= 13 13 13
b) - _ 1-¢ . 2-3¢ - 2"34.-21'-2 2 ~1=-5C
2430 2430 -3¢ 13 13
_ _1_ s
. 3 3
> . - ‘ - .
C) S+3c _ SH3¢ 2t | | 4+t 6 . —~ "21_'*‘2‘
2-20 R 2¥ 4+ Y4
2~ = 2-¢ 21< 2%1% 3 5

10 .14 Q) 4= -:'-.:-f}': :9:::--(: b)"—l :(SI.GACQ) =
i ¢ 1 C “W‘:M&S” veA Q)

€ 4.1 .-q 3) < -

1=
2 7

o 9

_— — e — o . o B . o
e —
..‘ ‘,-’/ o
/ v,// - /,)’/
/ //,. o



